Bid #432-11152 - Corporation Stops

Start Date Jan 18, 2013 2:31:48 PM EST Awarded Date Not Yet Awarded

432-11152-01-01 3/4" Stop, Corporat	ion				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ferguson Enterprises Inc.	First Offer - \$22.82	30 / each	\$684.60		Υ
Agency Notes:		Supplier Product Code: Supplier Notes: Make Offered: FORD Model Offered: NL			
HD Supply Waterworks, Ltd.	First Offer - \$24.00	30 / each	\$720.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: Model Offered: F	Make Offered: Ford	d	
A&B PIPE & SUPPLY, INC.	First Offer - \$24.66	30 / each	\$739.80		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: Model Offered: H	Make Offered: MUE	ELLER	
msc waterworks	First Offer - \$25.00	30 / each	\$750.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Make Offered: Mueller Model Offered: H15008N			
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer - \$25.957	30 / each	\$778.71		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: I Model Offered: E	Make Offered: JAN	IES JONE	S

432-11152-01-02 1" Stop, Corporation	1				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ferguson Enterprises Inc.	First Offer - \$34.51	25 / each	\$862.75		Υ
Agency Notes:		Supplier Product Code: Supplier Notes: Make Offered: FORD Model Offered: NL			
HD Supply Waterworks, Ltd.	First Offer - \$35.90	25 / each	\$897.50		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: Model Offered: F	Make Offered: Ford	d	
A&B PIPE & SUPPLY, INC.	First Offer - \$37.35	25 / each	\$933.75		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: Model Offered: H	Make Offered: MUE	ELLER	
msc waterworks	First Offer - \$38.00	25 / each	\$950.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Make Offered: Mueller Model Offered: H15008N			
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer - \$39.316	25 / each	\$982.90		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: Model Offered: E	Make Offered: JAM	IES JONE	S

432-11152-01-03 2" Stop, Corporation	1				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ferguson Enterprises Inc.	First Offer - \$164.52	15 / each	\$2,467.80		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Make Offered: FORD Model Offered: NL			
HD Supply Waterworks, Ltd.	First Offer - \$185.00	15 / each	\$2,775.00		Υ
Product Code: Agency Notes:		Supplier Production Supplier Notes: Model Offered:	Make Offered: For	⁻ d	
A&B PIPE & SUPPLY, INC.	First Offer - \$255.78	15 / each	\$3,836.70		Υ
Product Code: Agency Notes:		Supplier Production Supplier Notes: Model Offered:	Make Offered: MU	IELLER	
msc waterworks	First Offer - \$256.50	15 / each	\$3,847.50		Υ
Product Code: Agency Notes:		Supplier Production Supplier Notes: Model Offered:	Make Offered: Mu	eller	
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer - \$269.251	15 / each	\$4,038.765		Υ
Product Code: Agency Notes:		Supplier Production Supplier Notes: Model Offered:	Make Offered: JAN	MES JON	ES

432-11152-01-04 1 1/2" Stop, Corpora	ation				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ferguson Enterprises Inc.	First Offer - \$99.47	700 / each	\$69,629.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Make Offered: FORD Model Offered: NL			
HD Supply Waterworks, Ltd.	First Offer - \$105.75	700 / each	\$74,025.00		Υ
Product Code: Agency Notes:		Supplier Produc Supplier Notes: Model Offered: F	Make Offered: For	⁻d	
msc waterworks	First Offer - \$109.35	700 / each	\$76,545.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Make Offered: Mueller Model Offered: H15023N				
A&B PIPE & SUPPLY, INC.	First Offer - \$109.39	700 / each	\$76,573.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Make Offered: MUELLER Model Offered: H15023N			
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer - \$115.144	700 / each	\$80,600.80		Υ
Product Code: Agency Notes:		Supplier Produc Supplier Notes: Model Offered: h	Make Offered: MU	JELLER	

432-11152-01-05 2" Stop, Corporation	1				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ferguson Enterprises Inc.	First Offer - \$164.52	200 / each	\$32,904.00		Υ

p. 2

Agency Notes:		Supplier Product Code: Supplier Notes: Make Offered: FORD Model Offered: NL		
HD Supply Waterworks, Ltd.	First Offer - \$175.00	200 / each	\$35,000.00	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Make Offered: Ford Model Offered: FB1100-7-Q-NL		
A&B PIPE & SUPPLY, INC.	First Offer - \$180.94	200 / each	\$36,188.00	Υ
Agency Notes:		Supplier Production Supplier Notes: Model Offered:	Make Offered: MUELL	_ER
msc waterworks	First Offer - \$180.95	200 / each	\$36,190.00	Y
Product Code: Agency Notes:		Supplier Production Supplier Notes: Model Offered:	Make Offered: Muelle	er
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer - \$190.471	200 / each	\$38,094.20	Υ
Product Code: Agency Notes:		Supplier Production Supplier Notes: Model Offered:	Make Offered: MUELL	_ER

432-11152-01-06 1" Stop, Corporation	l				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ferguson Enterprises Inc.	First Offer - \$34.51	1000 / each	\$34,510.00		Υ
Agency Notes:		Supplier Product Code: Supplier Notes: Make Offered: FORD Model Offered: NL			
HD Supply Waterworks, Ltd.	First Offer - \$35.50	1000 / each	\$35,500.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: Model Offered: F	Make Offered: Ford	d	
A&B PIPE & SUPPLY, INC.	First Offer - \$37.35	1000 / each	\$37,350.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: Model Offered: H	Make Offered: MUE	ELLER	
msc waterworks	First Offer - \$37.50	1000 / each	\$37,500.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Make Offered: Mueller Model Offered: H15028N				
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer - \$39.316	1000 / each	\$39,316.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: Model Offered: E	Make Offered: JAM	IES JONE	S

432-11152-01-07 1" Stop, Corporation	n				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ferguson Enterprises Inc.	First Offer - \$34.57	150 / each	\$5,185.50		Υ
Product Code: Agency Notes:		Supplier Produc Supplier Notes: Model Offered: N	Make Offered: FOR	RD	
HD Supply Waterworks, Ltd.	First Offer - \$35.00	150 / each	\$5,250.00		Υ

p. 3

Agency Notes:		Supplier Notes:	Supplier Product Code: Supplier Notes: Make Offered: Ford Model Offered: F1700-4-NL		
A&B PIPE & SUPPLY, INC.	First Offer - \$35	92 150 / each	\$5,388.00	Υ	
Agency Notes:		Supplier Notes:	Supplier Product Code: Supplier Notes: Make Offered: MUELLER Model Offered: H10046N		
msc waterworks	First Offer - \$36	40 150 / each	\$5,460.00	Υ	
Product Code: Agency Notes:	Supplier Notes:	Supplier Product Code: Supplier Notes: Make Offered: Mueller Model Offered: H10046N			
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer - \$37.8	07 150 / each	\$5,671.05	Y	
Product Code: Agency Notes:		Supplier Production Supplier Notes: Model Offered:	Make Offered: JAMES JO	NES	

432-11152-01-08 1 1/2" Stop, Corpora	ation				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ferguson Enterprises Inc.	First Offer - \$96.24	20 / each	\$1,924.80		Υ
Agency Notes:		Supplier Product Code: Supplier Notes: Make Offered: FORD Model Offered: NL			
HD Supply Waterworks, Ltd.	First Offer - \$103.00	20 / each	\$2,060.00		Υ
Product Code: Agency Notes:		Supplier Production Supplier Notes: Model Offered:	Make Offered: For	⁻ d	
A&B PIPE & SUPPLY, INC.	First Offer - \$114.89	20 / each	\$2,297.80		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Make Offered: MUELLER Model Offered: H10046N				
msc waterworks_	First Offer - \$115.90	20 / each	\$2,318.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Make Offered: Mueller Model Offered: H10046N				
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer - \$120.941	20 / each	\$2,418.82		Υ
Product Code: Agency Notes:		Supplier Production Supplier Notes: Model Offered:	Make Offered: MU	IELLER	

432-11152-01-09 2" Stop, Corporation	า					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ferguson Enterprises Inc.	First Offer	- \$156.68	20 / each	\$3,133.60		Υ
Product Code: Agency Notes:			Supplier Produc Supplier Notes: Model Offered:	Make Offered: FO	RD	
HD Supply Waterworks, Ltd.	First Offer	- \$163.00	20 / each	\$3,260.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Make Offered: Ford Model Offered: FB1700-7-NL			
A&B PIPE & SUPPLY, INC.	First Offer	- \$165.58	20 / each	\$3,311.60		Υ

Agency Notes:		Supplier Product Code: Supplier Notes: Make Offered: MUELLER Model Offered: H10046N			
msc waterworks	First Offer - \$167.05	20 / each	\$3,341.00	Y	
Agency Notes:		Supplier Product Code: Supplier Notes: Make Offered: Mueller Model Offered: H10046N			
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer - \$174.299	20 / each	\$3,485.98	Υ	
Product Code: Agency Notes:		Supplier Production Supplier Notes: Model Offered:	Make Offered: MU	JELLER	

Supplier Totals

Ferguson Enterprises Inc.			\$151,302.05	(9/9 items)	
Bid Contact	Jason A Mueller	Address	2361 NW 22nd Street		
	jason.mueller@ferguson.com		Pompano Beach, FL 33069		
	Ph 954-973-8100				
Supplier Code	00000137				
Agency Notes:		Supplier	Supplier Notes:		
HD Supply W	/aterworks, Ltd.		\$159,487.50	(9/9 items)	
Bid Contact	Susan Helms	Address	501 W. Church Street		
	susan.helms@hdsupply.com		Orlando, FL 32805		
	Ph 407-893-9002 Fax 407-893-7376				
C !! C! -					
Supplier Code					
Agency Notes:		Supplier	Notes:		
A&B PIPE &	SUPPLY, INC.		\$166,618.65	(9/9 items)	
Bid Contact	ARODDY MOREJON	Address	6500 NW 37TH AVENUE		
	aroddym@abpipe.net		MI AMI, FL 33147		
	Ph 305-694-2004				
Supplier Code	0000016				
Qualifications	SB				
Agency Notes:		Supplier	Supplier Notes:		
msc waterworks			\$166,901.50	(9/9 items)	
Bid Contact gr	reg panasuk	Address	8920 SW GLADES CUT-OFF ROA	_ADES CUT-OFF ROAD	
_	avid.guthart@fortiline.com		PORT ST LUCIE, FL 34986		
	h 772-408-1960				
	ax 772-408-1963				
Agency Notes:		Supplier	Supplier Notes:		
Lehman Pipe & Plumbing Supply, Inc. [Ad]			\$175,387.225	(9/9 items)	
Bid Contact	Dennis Lehman	Address	230 N.W. 29TH ST		
	josh@lehmanpipe.com		MIAMI, FL 33127		
	Ph 305-576-3054				
Supplier Code	00001457				
Agency Notes:		Supplier	Notes:		

**